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ECONOMICS
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.,
Part I (¥ -912¢)
Q. No. 1 (a-f) carries 1 mark eacl 1x6= 6
Q. No. 2 -7 carries 2 marks each 2x6 =12
Q. No. 8 -12 carries 4 marks each 4x5 = 20
Q. No. 13 & 14 carries 6 marks each 6x2 =12
Total = 50
Part II (¥ -92)
Q. No. 15 (a - f) carries 1 mark each 1x6= 6
Q. No. 16 - 21 carries 2 marks eacl 2x6 =12
Q. No. 22 -26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each 6x2 = 12
Total = 50
\\ Total (Part I & II): 50+ 50 =100

\

Contd.




PART A - & 9

1. (@) Define market economy. 1
TR SR Ficwat i |
() What does a point below the production possibility frontier
indicate ? 1
Beol TR AR o7 wrfye R B2 6 7o
(@~ What is meant by inferior goods ? 1

iR = 3 e qmm e )A
(d) What is an indifference curve ?. 1/‘ 1

s @i e

\fy If there is no change in quantity demanded despite a change in the
price of a commodity, what will be the price elasticity (e,) of

demand ? 1
3 afy TR w4 +iRedq virge W siftR SfREeE @Al s T2,
\ o= HifEA v Ffogereel () @ 23
N\
Y\(f) What is a production function ? 1
“v Tedlive Ferw fF2
Vv

\
2.  Distinguish between positive economics and normative economics.

e wiE geere wdREma Sl 4|

Mention any two important factors determining price elasticity of demand.
2

sifewR va Rfegree e T R o eged Fae Smd 34|

4. Suppose, when the price of a good is 24, the quantity demanded is 25
units. As price increases to 5, the quantity demanded falls to 20 units.
Calculate the price elasticity of demand. 2

@ 2, @G5 A WA 4 5 T TR GIEAR sif{e 25 v @ e
AR 7 5 5L AN, G AR 20 G B | G (FI IR 0
Hfogemel R w41
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‘5/' Can there be some fixed cost in the long run? Justify your answer.

1+1=2
AITS i T AR AT ? (oM Baw Ryt ol 41|
OR / 5331
What is marginal product of an input ? -
<l CAMIE 2T Teoii B2
6.  Write down the concept of normal profit, -
O #Sq 4IRCAH! i |
7. What is monopolistic competition ? 2

IR eferafrene am

8. What does the Average Fixed Cost (AFC) curve look like ? Why does it
" look so ? 1+3=4
M %3 I (AFC) @iierR wighs (N2 TR wigfe coragat e
OR [/ §q%f

What is meant by Returns to Scale
of Returns to Scale.

wmw%m?wmmmwm:

? Give the meanings of various stages
1+3=4

What is an isoquant ? Why are the isoquants downward sloping ?

2+2=4
T BN (W2 62 T Gl @4PWE BE weei e e

. 10 ‘What does a firm wish to achieve ? What three conditions must hold for a

profit maximising firm in the short-run ? 1+3=4
o Wmaw%@mﬁﬁﬁﬁaﬁm?ﬁwmﬂmﬁmﬁm
U qu a5 OB 56 sl 2 AP
OR / g4t

The production function of a firm is given as Q = 5L1/2K 1/2; Calculate the

level of output (Q) when it employs 25 units of labour (L) and 9 units of
capital (K). : 4

Q¥ A 2OV BeaAlm oW Q =5L1/2K 1/2 fagt wig| 25 G =fii (L)
AR 9 G TA (K) e e dfSvinem Sesive wifme (Q) Refy w1
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11. Explain fwo characteristics of perfectly competitive market.

off efeTRIfTeIETS FwrR 5 ey e

12. Explain the effects of a rightward shift of demand curve on equilibrium
price and quantity when the number of firms in the market is fixed. Use
suitable diagram for your answer. 4

e [ e fodm oa wge SRRy Wi wiE SAREdE eoke SifRul
(R GIRIE (2R ZNI9eR ot Bar Tmme il &4 |

13. What is demand curve ? Show with the help of suitable diagrams how the
market demand curve can be derived from individual demand curves.
14+5=6

SRl (= 2 T SifEt @i o1 @At <@ sifER @ oA A Baw
FRIER (Y€t |

OR / 594/
Explain consumer’s optimum with the help of indifference curve
}pproach 6
Rt @i siafor TS corer R i w4 | 3

14" The short run Total Cost (TC) schedule of a firm is given below. Calculate
the TFC, TVC, AFC, AVC, AC and MC schedules of the firm.

6

43 AfSYITT ZFTETH 5 T4 (TC) wets Rl Tar | efebIMth TFC, TVC,
AFC, AVC, AC SI% MC SFb 512, [ %4 |

Q TC

0 10

1 30 %

2 45

3 55

4 70 g)?&

5 90 F]/ X
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OR/ 9eqr
Give the meaning of Total Fixed Cost (TFC) and Total Variable Cost
(TVC). Show with the help of a diagram that Total Cost (TC) is the sum
of TFC and TVC. 2+4=6
5 @ T (TFC) W% 35 ~{Red=rTie I/ (TVC) 3 Wi oral | B 7 (ryel
@ TFC % TVC 3 @SSR Ta 30 38 (IC) |

PART B - €4 9™
15. (a) ~What is macroeconomics ? 1
T e sk &
1

b)) What is autonomous consumption expenditure ?

woF (o W W B2

(o) Define excess demand in the context of income and employment
| 1

" determination.
W o O R FERe evmre Sfefe siftwe kel fr
(d) - What are public goods ? 1
ol vy &2
(e) - What is balanced budget ? 1
" g i R
() Write down the meaning of flexible exchange rate. 1
siffage [ ZRa wd i
16, What is GDP Deflator ? 2 2’0 2
TP G BeAAld IS 2 Ll‘fﬁ y
OR / &1 45 (j(
‘ Define budget deficit and trade deficit. %Q/ U 2
et e e A v L o %}{‘;
| ’f{{ /lCcmtd. '
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\ 17 What is Personal Disposable Income (PDI) ? 2
Y e IEEng ww e

v 18. Distinguish between demand deposits and time deposits. 2
BIfRAT ST Wi o SIS T ~A1F CTYEa |

19. What is the difference between Ex-ante investment and Ex-post
investment ? 2

AGE W oiFe (e12E) RisR aee oA &2
3

@ Mention any two items of non-plan expenditure of a government budget.
. \‘ _ 2

- ORI A ARl I R o R S 4

‘ 31//What is Balance of Payments (BoP) ? Mention two main accounts of BoP.
11 [ 1+1=2
1

(STH-(1=g 31! (BoP) &2 BoP 3 76/ =4l fZpisl S 34|

22. Suppose the GDP at market price of a country in a particular year is
21100 crore. Net Factor Income from abroad is 100 crore. The value of
Net Indirect Tax is ¥150 crore and National Income is ¥ 850 crore.
Calculate the aggregate value of depreciation. 4

[ T GOt WS IS @i (PR IR WS GDPyp 3 AR 21100 IS |
RomiT “[R @[T TAmiAT &iF© \™ (NFIA) 2100 &I, @F 23 399 s
2150 (@6 o S R «Af{ai 2 850 @I Tee, F-Fod TS & W

T e 4 |
'}3/ Define Intermediate goods, Final goods, Consumptiea goods and Capital
— :
goods. ; 1

Y Nqal AW, wiew AEA, coley Am i [FRce S e @

24. Measure the level of ex-ante aggregate demand when autonomous
investment and consumption expenditure (A) is Z 50 crore, MPS is 0-2 and
level of income (Y) is 24,000 crore. State whether the economy is in
equilibrium or not (cite reasons). 3+1=4
g R =i o 8 (A) 250 @I, 2ifes FA%en el 0-2 =i wiw %1
(Y) 24,000 it 2T erejifre Ffae s Al fowm 21 Sfear aw
TRZS WS SRPS S 2 IR weefia |
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OR/ &r3dl
The autonomous consumption in an economy is ¥500 crore and total

Personal disposable income is % 5,000 crore. If the marginal prop'ensity to
consume (mpc) is 0-8, find out the level of aggregate consumption. )

B RIS T (oiie ~fRE 500 i 5l Wi 5 e JACEHD WF

5000 il Bevt | @i Cetel eieret 0-8 T, SRRITFICHTS ANET (ol AR
ot 3|

25,

O- What is revenue deficit in a government budget ? Explain its implications
x~  of revenue deficit. 1+3=4

53T Aeve ez Wl 2 ae Wit wee Sew @7t AREFT e w4

2}. Differentiate between devaluation and depreciation of currency.

- A SRR W% TR R IR WS A (6|

27. Explain the circular flow of income in a simplified economy with two
sectors — households and firms. 6

a@mw%ﬁa—ﬁﬁ-@wﬂwwﬂmmmﬁam
ARG T | '

OR / 5123t

Write down some of the limitations of using GDP as an index of welfare
of a country.

QU (PR IR P BN GDP = ARz a1 R st et | 6
. What amhe_r_p_a_i____nﬁm_cti_qn_sﬂgﬁ_rggg_ey? How does money overcome the
shortcomings of a barter system ? 2+4=6
:@aﬁﬁiﬂﬁiﬁﬁiﬁﬁsﬁs?{aﬁmﬁﬁmaﬂmwﬁwww,
A OR / 92!
Briefly explain any four functions of the RBL 6
SRS RS <& (RBI) I Rz 51307 w7 5t aprent <ot |

X
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